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Example Data

Average across

Group Read Dance TV Ski b
activities
7 10 6 5 7
8 9 5 7 7.25
Belly dancers 5 10 5 8 7
6 10 6 8 4.5
7 8 7 9 ¥ oyho)
Mean BD 6.6 9.4 5.8 7.4 % 8
4 4 4 4 4
6 4 5 3 4.5
Politicians Q 5 ) 6 5.25
6 6 6 7 6.25
4 5 6 5 5
Mean P 5 4.8 bra 5 5
3 1 1 2 1.75
5 3 1 5 3.5
Administrators 4 2 2 5 328
7 1 2 4 3:5
6 3 3 3 3.75
Mean A 5 2 1.8 3.8 3.15
Grand Mean 5.53 5.4 4.27 54 5.15




Profile of Example data

Profiles for Leisure-time Ratings for Three Occupations
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Steps to) Profile; Analysis

Profile;analysis isisimilar ter MANOVA
With' ene exception and some
iéarrfanging off the data



Steps to) Profile; Analysis

Equal lLevels isia univariate; test; each
PEISONS SCore Is the average across all
Of thie PVs andl the groupraverage Is
feund by averagingl the groups: mean
Score om each; DV



Steps to: Profile Analysis

NFisi the nuUmber ofi subjects| in each greup
(equalin case)

PSS the number ofi DVs



Steps to: Profile Analysis



Steps to: Profile Analysis

A normal univariate ANOVA' :summary. table IS
created



Steps to: Profile Analysis

Preparing the; dataifor the Multivariate
tests

s (Creating segments — bVs canl be combined
N any: NUMBEr 6if Ways but one of the
easjest Is taking the difference between
parallel sections of the DVs. It has been
shewni that:what linear combination: you tse
S Irrelevant.



SUEPS) to) Profile; Analysis

» Segmented data

Group Read - Dance Dance-TV TV - SkKi
-3 4 1
-1 4 -2
-5 5 -3
-4 4 -2
Belly dancers -1 1 -2

Mean BD -2.8 3.6 -1.6
0 0 0
2 -1
0 ]
0 -1

Politicians -1 -1

Mean P 0.2 -04 0.2
2 0 -1
2 2 -4
2 0 -3
6 -1 -2

Administrators 3 0 0
Mean A 3 0.2 -2
Grand Mean 0.13 1.13 -1.13




Steps to: Profile Analysis

Parallelism

s, Really asks the question isithere a
diffierence; between groups on difference
scores made by subtracting parallell scores
on the DVs



Steps to: Profile Analysis

Parallelism

s In the example “Is the! difference; between
ieéading and dancing the; same for dancers;
PoliticIans and administrators? and
simultaneously: asks “Isi the, difference in
iatings Off dancing and SKIing/ the same for
Each groupr, ete.



Steps to: Profile Analysis

Parallelism

s [N the example, a one way: MANOVA weuld be
used to tests the parallelismi hypothesis. Each
SEegmERL represents a slope DEtWEen two
originall Vs, iff ar multivariate efifect is found
than there isia difference; in siope; between at

least two of the greups:



Steps to: Profile Analysis

Elatness

s [his'is a test that the average slope
(segment)i is diffierent tham zero for at least
One; pair off BV/s

s Performs the multivariate; equivalent tora
one sample t-test calledia one sample au
sguared (HHotelling's 172).



Steps to: Profile Analysis

Elatness

s Basically: the average off eéachi Segment acress
groupsiIs Uused torcompute this and each
SCOre Mas zero subtracted: firom is; s sguared
andidivided by the pooled erroer SSCP matrix

(SWg)-



Viatrriv Eariatrinnc
Matrix EqUations
5 Paralielism
= FOr thefirst belly: aancer:

AN T REF 710 2

Y, -M)=| 4 |-|3.6 |=| 04
g it
0"

Y, —-M)Y,,-M)'=| 04 ||[-0.2 04 2.6]
2.6




Matrix Equations

Tihis IS donge! fior every: case and added
together to create; the; Swgr matirix



Matrix Equations

Now:ior the between groups:S matrix you
need torget the difference between each
droup: mean: and the grand mean; fier each
segment, for the first group:



Matrix EquUations

DR 1T - [ D3
(M, -GM)=|3.6 |—| 1.13 |=| 2.47
—-1.6| |[-1.13| | —47

-2.93

(M, ~GM)(M,-GM)'=| 2.47 |[-2.93 247 -47]
g




Matrix Equations

This s done for each grotp;and added
tegether, thenreach entry: inrthe matrix Is
multipliedr by’ the nUMBbEr of people in

eachigroup: This results in the Sbg
matrix:



Matrix Equations

[Fambaaris calctlated the same way, ete.



Matrix Equations

Flatness - Is tested by subtracted a
ypothesized drand mean (0) firom: the
actual grand mean



Matrix EquUations

Hotelling's T° = N(GM) 'Sv;; (GM)

T> =(15)[.13 1.13 -1.13]

=2.5825
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|—.00119
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Matrix EquUations

F:N—k—p+2(T2)
D

o 22 P T2 0 Al es T
4—1

et R T

1+T> 1+2.5825



